[image: image1.png]Problem 7. (Bonus) Suppose that f(z) = a2 + ag_1 2" + -+ ayz +ag is
a non-constant. polynomial with integral coefficients. Show that there exists a
positive integer n such that f(n) is not a prime number. (Hint: Take an integer
a such that f(a) # ~1,0,1. Set k = f(a). Then show that f(a + mk) is not
prime for large m. Use Problem 6.)





The Problem 6:

[image: image2.png]Problem 6. Suppose that. f(z) = agz”+a4—12°" ++ - +a12+ao is a polynomial
with integral coefficients (o ag, ay, ..., aq € Z). Show that f(n)— f(
by n — m for all distinct integers n and m.





